KEY REVIEW

True-False Questions

_____ 1.
A continuous process is similar to an assembly line in that production follows a predetermined sequence of stops, but the flow is continuous rather than discrete.

_____ 2.
When other processes are employed in a line fashion it is commonly referred to as an assembly line.

_____ 3.
An example of an assembly line would include manual assembly of toys and appliances and automatic assembly of components on a printed circuit board.

_____ 4.
It is desirable to design facilities along the diagonal of the product-process matrix.

_____ 5.
An assembly chart is simply an exploded view of the product showing its component parts.

_____ 6.
An assembly drawing specifies operations and process routing for a particular part.

_____ 7.
An operation and route sheet denotes what happens to the product as it progresses through the productive facility.

_____ 8.
Manufacturing cells can only be used for a limited range of applications and are unpopular among manufacturing engineers as a layout choice.

_____ 9.
Standardization is shown on the horizontal axis of the product-process matrix and refers to variations in the product.

_____ 10.
Examples of assembly lines include the assembly of toys, appliances, and automobiles.

Multiple-Choice Questions

_____
11.
Which of the following are not used in process flow design?



A.
Assembly drawing



B.
Operation and route sheet



C.
Break-even analysis



D.
Flow process chart



E.
American Society of Mechanical Engineers symbols

_____ 12.
A/An ________________ defines how parts go together, their order of assembly, and the overall material flow pattern.

A. Assembly drawing

B. Assembly chart

C. Operation and Route Sheet

D. Process Flowchart

E. All of the above

 _____ 13.
As volume increases on the product-process matrix, the product line:

A. Increases or broadens

B. Decreases or narrows

C. Stays the same

D. Cannot be determined

_____ 14.
As volume increases, specialized equipment and standardized material flows

A. Become too expensive

B. Have the same costs

C. Become economically feasible

D. Cannot be determined

_____ 15.
A fashion designer has fixed costs of $300,000 on the latest production of fall handbags and a variable cost per bag of $8.00.  The handbags wholesale for $23 each.  How many bags must be sold to wholesalers to break even?

A. 20,000

B. 30,000

C. 24,000

D. 184,000

Problems

16.
An outdoor lighting manufacturer has identified two possible entry light fixtures it can produce in the following period.  Product A, the smaller fixture, costs $75 per unit to manufacture while Product B, the larger entry fixture, costs $88 per unit.  Product A requires the purchase of a $45,000 machine while Product B requires the purchase of a $53,000 machine.  Marketing focus groups anticipate customers will like either product.  Fixed costs are the same with each product as is the selling price.  Which product has the lowest break even point in units?  

17.
A drive-through snow cone kiosk is analyzing the addition of a high-speed ice crushing attachment to their snow cone machines.  This new high-speed feature will allow the firm to sell more snow cones and make them faster.  It will increase unit sales by 10 percent and product cost by 15 percent.  Profit is expected to increase by 20 percent of the increased sales.  Initially the product cost incurred by the company was 75 percent of the sales price.  Should the new feature be added to boost summer sales?

